[image: image3.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.eu


www.rdmoto.eu

A9SDM
Aprilia RS4 125

Mounting Kit - Left Side:

     

Mounting Kit - Right Side:
	ID
	Description
	Cat.No
	Pcs

	1
	Dural. adapter SLD
	537/B
	1

	2
	Bolt M10x45
	848
	1

	3
	Bolt  M10x20
	819
	1

	4
	Bolt  M10x110
	879
	1

	5
	Tube holder
	698
	1

	6
	Bolt  M6x20
	1024
	2

	7
	Washer M6
	1023
	2

	8
	Spring washer M10
	801
	1


	ID
	Description
	Cat.No
	Pcs

	1
	Dural. adapter SLD
	537/B
	1

	2
	Bolt M10x45
	848
	1

	3
	Nut M10
	810
	1

	4
	Washer 
	804
	1

	5
	Tube holder
	699
	1

	6
	Bolt  M6x20
	1024
	2

	7
	Washer M6
	1023
	2

	8
	Spring washer M10
	801
	1


[image: image4.jpg]



[image: image5.png]









Mounting instructions:
1. Remove left and right fairings.

2. Remove original bolt M10 in the front of the engine.

3. Remove original bolt from the frame on the left side (red arrow, picture 1).
4. Fasten the holder with the bolt ID.3 and bolt ID.4
5. Remove original bolt on the right side.

6. Use the original bolt for mounting on the right side. Use a nut ID.3 and washer ID.4 for front mounting. 

7. Attach fairings back to the motorcycle.
8. Use the bolts ID.2 to install the dural. adapters ID.1. Use bolts ID.6 to secure the sliders. Attach the caps using bolts ID.7.
Warning: We recommend using medium strength (blue) thread glue during assembly.
[image: image1.jpg]


(picture1)[image: image2.jpg]



1





2





4





1





3,4





2





8





6





7





7





1





6





5





5





8





3








2

